


a = 			b = 			c = 

	a + b
	
	a + 2b + 3c
	

	a + c
	
	a – 10b
	

	2b
	
	4a + 5b – 3c
	

	3a + 2b
	
	-2a – 8b + 6c
	

	c - a
	
	b2
	

	4a + 4c
	
	a2 + c2
	

	10b - a
	
	a2 + 5b – 2c
	




Name…………………………………………………		Time…………………………………………


[bookmark: _GoBack]




a = 			b = 			c = 

	a + b
	
	a + 2b + 3c
	

	a + c
	
	a – 10b
	

	2b
	
	4a + 5b – 3c
	

	3a + 2b
	
	-2a – 8b + 6c
	

	c - a
	
	b2
	

	4a + 4c
	
	a2 + c2
	

	10b - a
	
	a2 + 5b – 2c
	




Name…………………………………………………		Time…………………………………………



image1.png
www.maths-starters.co.uk

www.maths-starters.co.uk




